o2 5 5a ot T2 A2
@ a+a+a+a+a @ axaxaxaxa
® o @ 5+a

® 5+a



5 7Roll a ¥ sh= AF-E 100 7 4ttt o]uf,
o172

® 50 ¢ o Xa

a
100

@7‘?‘1 @5000‘?’_

A]

=]
=

® 20a

o}

=



3
x3—4x+6 & 24, 0|2}

3.

® A5

5
<F

ol

® Al gho] &



? (A 27H)

A

=

R
M
el
S
olJ
o8

olig
Nfo

op

=4x+8

1
2

@ (~4x+8)+(-4)=-x-2

®

@ (2x+4)=+

2x—3

(6x-9)

— |

@ (9x+3)+3=3x+9

® (12x—9)><§:4x—3



1 3
Z(8x+ 16)+6<§x—2)




=-x-2

x+ 3y

1
3

™

=

@®© A x, +

@ #H: x, $H: -2

1
@ 4. 353 -2

@ =

Lo X

o
o

x+ 3y,

ks
3

—x—=2

1
353 iR

® .



Ho

s AT, AL BHNOE $2 AL

ofd AA%4E 2 wste] 5 & W Sk 1 5

o] 3t}

it

3 H

e

ZHTH

D 3x+2=5x-4 @ 2x+5=3x-1

® 2x-5=3x+1 @ 3x-2=5x+4

® 3x+2=5x+14




® —4x-2=-2(2x+1)

® 3(2x+1)=2x+1

@ 4x-3=5x-2

@ x-5=2x+5



O T x+yxz b g2 A2 A=A
@ xxXy+z © x+y+z ©® x+(yxz)
® xxz+y @ x+zxy

D L
=%



D (x+1)-(2+x) @ 0xx+5
® 3x—x+7-2x @l_1
x oy

® x% - (¥ +0.1x)



11.

che ol A ARG HEY AL 7

OHE St A - B @

o
=

Taholat,

OS2 A BE



12. ol" Ao 2x + 55 Hoflof & A-S A HE5|A wideY 4x - 6 ©]
ot A A4LE A& A2 A7
D 4x-6 @ 6x-1 ® 6x+3

@ 8x+4 ® 8x+9



@ 50 ® 52 @ 54 ® 60

O 40



14.

A}



15, of® Ao|A] —x+ 2y & wolof shze] FEate] Heldei ] 3y — 4y
7} =]t o] W 2HIE & L5H?

@ 5x+ 7y @ —5x+ 8y ® 3x+ 8y

@3x—8y ©5x_8y



P54 BF Betel,
16. thg BololH P54L mE

@ 3(x-1)=4-x
© 2(x-3)=2x-6
© 3x+4x=12

@ 2(x+1)+6=4-2x

o e
D g
= -



17. o= 5 HAAES o= A7
@ 3(x-1)-3x

@ bx="Tx—-2x

® 4+5<2+x
5x—5 3x—-3
@ 3 5
® 2(4x+3) =18 +4(2x - 3)




D x2-2x-6=0
® 4x-3=-3x+14

® 5(x+1) =4+ 5x

@ 3(x-1)+1=3x-2

@ x2-2x=3+x2



A o, Ax B 9

o B
6x

| 758 el

Al

=
=

A+ x+(-24)

o~
ol
0 ho W&

@ o



20.

2x:y 2B Al 7188 Aerstel Liehyu?

2x
2xy 2 =
D 2xyz @ . ® o @ V2



